
Use these questions to help you revise (cover the right-hand side with a sheet of paper). 
	1
	What are the energy transfers in a hair-dryer?
	...
	energy in the power station is transferred
by electricity to:

· kinetic energy (of the motor and the air)

· heat (of the heating coils and the air)

· sound.

	2
	In a mains circuit, where are the switches and
fuses placed?  (pages 271, 275)
	...
	always in the live wire.

	3
	Explain the difference between d.c. and a.c.

(p. 274, 305)
	...
	d.c. = direct current, like that from a
battery. It flows one way.

a.c. = alternating current, as in the mains.
It is constantly changing direction,
at a frequency of 50 Hz.

	4
	If the energy from the mains costs 12p per
Unit (kW h), what is the cost of 20 Units
(20 kW h)?  (p. 273)
	...
	Cost = number of kW h ( cost per kW h
= 20 ( 12
= 240p
(£2.40)

	5
	How should the wires be connected in a
mains plug?  (p. 276)
	...
	· brown wire to the fuse (and so to the live
pin)

· blue wire to the neutral pin

· green/yellow to the earth pin.

	6
	What is a watt?  (p. 272, 114)
	...
	a watt is a unit of power, or rate of energy
transfer.

1 watt = 1 joule per second.
1 W = 1 J/s

	7
	A 230 V mains supply delivers a current of 2 A.
What is the power?  (p. 272)
	...
	Power, P = p.d., V  (  current, I
= 230 V  (  2 A
= 460 W

	8
	What fuse would you use in this case
(question 7)?  (p. 276)
	...
	the current is 2 A, so the next available
standard fuse rating is 3 A.

	9
	In question 7, how much energy is transferred
in 2 minutes?  (p. 272)
	...
	energy transferred = power, P  (  time, t
= 460 W  (  120 s
= 55 200 joules

	10
	A 2 kW electric fire is switched on for 10 hours.
How much energy is transferred?  (p. 273)
	...
	energy transferred = power  (  time
= 2 kW  (  10 hours
= 20 kW h
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